$(1, 1) \quad (1, 1) \quad ($

Ab Laci

	. f	. .	x x: 4		· • • •	· • • • •
,	• • • •	f	. 1	_ fi fi	f	· • • • •
f	,		· · · · · ·	4		<u> </u>
	, ff ,	、· · 、	Í.	ć., .	f.,	f. f
• 、 、 、 •	. 1					· •
f		1	· · · – ·			
, , <i>i</i>	× • • • • • •		·	, f	! <u>.</u>	
· · · · · ·			. ff	f	<u>-</u>	

Ke d:Ac ¿c a,xee a¿ de ,F ædffeece e¿, d e ea¿ ee,x

^{*. &}lt;u>f</u> r___rr._._

1 I t d ct

 $f_{1,1} = \left\{ \begin{array}{cccc} \mathbf{f}_{1,1} \\ \mathbf{f}_{2,1} \\ \mathbf{f}_{2,2} \\ \mathbf{f}_{2,$ $\mathbf{f}_{\mathbf{x}_1,\mathbf{x}_2,\mathbf{x}_3,\mathbf{x}_4,\mathbf$ $\mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} + \mathbf{f}_{\mathbf{x}} +$ $\mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} + \mathbf{f}_{\mathbf{x}} +$ $f_{1} = f_{1} + f_{2} + f_{3} + f_{3$ en foren foren en en . , -.... $(1, \dots, n, n) = (1, \dots, n) = ($ 1. . . / i finalish in the second se f_{1} , f_{2} , f_{3} , f_{3 the second se e e a construction de la constru . ..

, , , , , , **fi** , **fi** , , , , , , ,

 $\mathbf{r}_{1} \mathbf{f}_{1} \dots \mathbf{r}_{n} = \mathbf{r}_{1} \mathbf{r}_{1} \dots \mathbf{r}_{n} \mathbf{r}$

2 Pex Met df Dete teFDC efficet Sata Sace

 $f_{1} = f_{2} = f_{1} = f_{2} = f_{1} = f_{2} = f_{1} = f_{2} = f_{2$

$$\frac{\partial f}{\partial x} = \frac{1}{\Delta x} \sum_{n=1}^{N} c_n (f_n - f_{-n}),$$

 $f_n = f(x + n\Delta x) \Delta x \qquad , \qquad x \qquad , \qquad c_n f \qquad n \qquad , \qquad ff \qquad .$

r i f f i f ff, r i i ri x i r i i i

$$k_x \Delta x = \sum_{n=1}^{N} c_n \quad (nk_x \Delta x),$$

 k_x , k_x , $k_x \Delta x_z$, $k_x \Delta x_z$

f , f , f , f , f(x) , \dots , N , \dots

$$\frac{\partial f}{\partial x} = \frac{\partial f}{\Delta x} \left[c f + \sum_{n=1}^{N} c_n (f_{-n} + f_n) \right]$$

 c_n f n f fit.

$$f(x) = f(x)$$
 $f(x) = f(x)$

$$-(k_x\Delta x) = c + \sum_{n=1}^{N} c_n \quad (nk_x\Delta x)$$

 k_x , f_x , \ldots , \underline{f}_x

$$\mathbf{f}$$

$$f_{1} = f_{1} = f_{1} = f_{1} = f_{1}$$

$$c_n = -\frac{1}{n}$$
 $(n\pi)w_n^N, n = \pm , \pm , \cdots, \pm N,$
 $c_n = -\sum_{n=1}^N (c_{-n} + c_n),$

$$c_n = -\frac{1}{n}(n\pi)w_n^{N+M}, n = \pm , \pm , \cdots, \pm N,$$

 $M \qquad , r \qquad , . \qquad fi \qquad , . \qquad , . \qquad r_{-}$

3 Ne Met d f Dete teFDC effice t

3.1 De - eat - ee, FD eat : fitde , vat ve 1D cae

ć	x · · · · x	1	· · ·	·	, f , , ,	I
, ffi	- 、、		1	£,	<u> f</u> , .	、 ・ 、
۲.,			x x			f

$f_{1}, f_{2}, f_{3}, f_{4}, \dots, f_{r}$

 $\mathbf{f}_{1} = \mathbf{f}_{1} + \mathbf{f}_{2} + \mathbf{f}_{2}$

$$r = \frac{k_u \Delta x}{\pi} = \frac{f}{\frac{v}{\Delta x}},$$

 $f \quad \dots \quad f \quad \dots \quad f \quad \dots \quad f \quad \dots \quad f \quad \dots \quad v \quad$

Re a 1 With our approach, if we consider a too high upper limit for the wavenumber for a given scheme order and grid spacing, large numerical dispersion will appear at low frequencies; while if we consider a too small upper limit for the wavenumber, large numerical dispersion will appear at high frequencies. Percentage of $k_u \Delta x$ to π is given by $f/(v/(\Delta x))$.

$$\begin{bmatrix} (k_x(\cdot)\Delta x) & (k_x(\cdot)\Delta x) & \cdots & (Nk_x(\cdot)\Delta x) \\ \vdots & \vdots & \vdots & \vdots \\ (k_x(N)\Delta x) & (k_x(N)\Delta x) & \cdots & (Nk_x(N)\Delta x) \end{bmatrix} \begin{bmatrix} c \\ \vdots \\ c_N \end{bmatrix} = \begin{bmatrix} k_x(\cdot)\Delta x \\ \vdots \\ k_x(N)\Delta x \end{bmatrix},$$

, ffi , _

3.2 De -eat -eet FD eat : ec dde tatte 1D cae

 $\mathbf{f}_{1}, \dots, \mathbf{f}_{N}, \dots, \mathbf{f$

$$\begin{bmatrix} & & (k_x(\cdot)\Delta x) & \cdots & (Nk_x(\cdot)\Delta x) \\ \vdots & \vdots & \vdots & \vdots \\ & & (k_x(N)\Delta x) & \cdots & (Nk_x(N)\Delta x) \end{bmatrix} \begin{bmatrix} c \\ \vdots \\ c_N \end{bmatrix} = \begin{bmatrix} -[k_x(\cdot)\Delta x] \\ \vdots \\ -[k_x(N+\cdot)\Delta x] \end{bmatrix}.$$

3.3 De -eat -ee, FD eat ftet-de aac tc a,xee at

$$\frac{\partial p}{\partial x} + \frac{\partial p}{\partial z} = \frac{\partial p}{v} \frac{\partial p}{\partial t},$$

$$\begin{array}{l} \frac{\partial p}{\partial x} \approx \frac{\delta p}{\delta x} = \frac{1}{h} (c \ p \ , \ + \sum\limits_{m=1}^{N} \ c_m (p_{-m,} \ + p_{m,} \)), \\ \frac{\partial p}{\partial z} \approx \frac{\delta p}{\delta z} = \frac{1}{h} (c \ p \ , \ + \sum\limits_{m=1}^{N} \ c_m (p_{-,-m} \ + p_{-,m})), \end{array}$$

 $p_{m,n}^{j} = p(x+mh,z+nh,t+j\tau) h \qquad \qquad x \qquad x$ $z \qquad \tau \qquad \qquad \tau \qquad \qquad N \qquad \qquad y \qquad f \qquad \qquad z \qquad \qquad z \qquad \qquad t \qquad \qquad z \qquad \qquad t \qquad \qquad z \qquad \qquad x$

$$-k \ h \ pprox \ c \ + \sum_{m=1}^{N} \ c_m((mkh \ heta) + (mkh \ heta)).$$

 $\mathbf{f}_{1}, \dots, \mathbf{f}_{n}, \dots, \mathbf{f$

$$\sum_{\theta=}^{\pi} \begin{bmatrix} a_{k_{-l}}^{h}, & \cdots & a_{k_{-l},N}^{h} \\ \vdots & \vdots & \vdots & \vdots \\ a_{k_{N+-,l}}^{h}, & \cdots & a_{k_{N+-,l},M}^{h} \end{bmatrix} \begin{bmatrix} c \\ \vdots \\ c_{N} \end{bmatrix} = -\sum_{\theta=}^{\pi} \begin{bmatrix} -k(\) \ h \\ \vdots \\ -k(N+) \ h \end{bmatrix},$$

 $i = x, z \quad k_x = k \quad \theta \quad k = k \quad \theta \quad \theta \quad q \quad (mk_x h) + (mk_z h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad i = \dots, N + (mk_x h) \quad m = \dots, N \quad k_{i,l} \quad m = \dots, N$

3.4 De -eat -ee,v FD eat ftetee-de aactca,vee at

.

$$\frac{\partial}{\partial x}\frac{p}{\partial x} + \frac{\partial}{\partial y}\frac{p}{\partial z} + \frac{\partial}{\partial z}\frac{p}{\partial z} = -\frac{\partial}{v}\frac{\partial}{\partial t}\frac{p}{\partial t},$$

$$\begin{cases} \frac{\partial}{\partial x} \approx \frac{\delta}{\delta x} = \frac{\partial}{h} (c \ p_{,,} + \sum_{m=1}^{N} c_m (p_{-m,,} + p_{m,,})), \\ \frac{\partial}{\partial y} \approx \frac{\delta}{\delta y} = \frac{\partial}{h} (c \ p_{,,} + \sum_{m=1}^{N} c_m (p_{,-m,} + p_{,m,})), \\ \frac{\partial}{\partial z} \approx \frac{\delta}{\delta z} = \frac{\partial}{h} (c \ p_{,,} + \sum_{m=1}^{N} c_m (p_{,,-m} + p_{,m,})), \end{cases}$$

 $c_i \mathbf{i} \qquad i \qquad fi \qquad p_{m,n,l}^j = p(x+mh,y+nh,z+lh,t+j\tau) \qquad h \qquad (x+mh,y+nh,z+lh,t+j\tau) \qquad h \qquad (x+mh,y+nh,z+lh,t+j\tau)$

$$\mathbf{f}_{i}$$

$$-k \ h \ pprox \ c \ + \ \sum_{m=}^{N} \ c_m((mkh \ \ heta \ \ \phi) + (mkh \ \ \ heta \ \ \phi) + (mkh \ \ \ heta)),$$

 $\mathbf{f} \cdot \mathbf{k} = \sqrt{k_x + k_y + k_z} \boldsymbol{\theta} \quad \dots \quad \mathbf{f} \quad \mathbf{k} = \sqrt{k_x + k_y + k_z} \boldsymbol{\theta}$

 $\mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} =$

$a_{k_{l}m}^{h} - (mk_{x}h) + (mk_{y}h) + (mk_{z}h), \quad (m = , \dots, N)$

$$\sum_{\phi=}^{\pi} \sum_{\theta=}^{\pi} \begin{bmatrix} \swarrow & a_{k,l}^{h}, & \cdots & a_{k,l,N}^{h} \\ \vdots & \vdots & \vdots & \vdots \\ \swarrow & a_{k,h+l}^{h}, & \cdots & a_{k,h+l,N}^{h} \end{bmatrix} \begin{bmatrix} c \\ \vdots \\ c_{N} \end{bmatrix} = -\sum_{\phi=}^{\pi} \sum_{\theta=}^{\pi} \begin{bmatrix} -k() & h \\ \vdots \\ -k(N+) & h \end{bmatrix}.$$

 $M = \frac{1}{N} + \frac{1}{N} +$

3.5 S, Le ea e at

$$\mathbf{f}_{\mathbf{h}} = \mathbf{f}_{\mathbf{h}} =$$

4 N e cad e e a a

 $\frac{N}{N} = \frac{N}{2} = \frac{N}$

$$E = \sum_{n=1}^{N} c_n \quad (nk_x \Delta x) - k_x \Delta x$$

$$E = -[c + \sum_{n=1}^{N} c_n \quad (nk_x \Delta x)] - (k_x \Delta x)$$

 $f_{E} = E_{E} + \frac{f_{E}}{2} + \frac{f_{E}}{2}$

 $\mathbf{f} = \mathbf{f} + \mathbf{f} +$

 $f_{1} = f_{2} = f_{2$

 $\mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} \mathbf{$

$$E = -[c + \sum_{n=1}^{N} c_n \quad (nk \quad (\theta)h) + \sum_{n=1}^{N} c_n \quad (nk \quad (\theta)h)] - (kh) .$$



 $f_{1}, f_{2}, f_{2},$



f $\mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} \mathbf{x} + \mathbf{f}_{\mathbf{x}} \mathbf{x} + \mathbf{x} + \mathbf{f}_{\mathbf{x}} \mathbf{x} \mathbf{x} + \mathbf$ 1. 、 , . . I . . f. f ... f 1. f, , , f 🔍 f ... ff f 1. for the second second f · 、 、 、 t ff fir , **f**. ٢. f kh ,__

, , , fi , fi , fi , r, r



 $\mathbf{f}_{1}, \mathbf{f}_{2}, \mathbf{f}$





 $\mathbf{f}_{1}, \dots, \mathbf{f}_{n}, \dots, \mathbf{f$

$$E = -c - \sum_{m=1}^{N} c_m ((mkh \quad \theta \quad \phi) + (mkh \quad \theta \quad \phi) + (mkh \quad \theta) - k h .$$

 $\mathbf{f}_{1}, \dots, \mathbf{f}_{k}, \dots, \mathbf{h}_{k}, \dots, \mathbf{h}_{k} = \mathbf{f}_{1} = \mathbf{f}_{1}, \dots, \dots, \mathbf{h}_{k} = \mathbf{h}_{k}, \dots,$

f_{1} , f_{2} , f_{3} , f_{4} , f_{5} , f_{7} , f



 $f_{1}, \dots, f_{n}, \dots, f_{n$

5 Neca at

5.1 A e de

 $\mathbf{f}_{\mathbf{i}} = \mathbf{f}_{\mathbf{i}} =$

$$w(t) = (-f(t-t)),$$

f = t + 1

 $\mathbf{f}_{\mathbf{x}}, \mathbf{x}, \mathbf{f}_{\mathbf{x}}, \mathbf{f}_{\mathbf$



5.2 Sa Ł de

, Í	! . /	、 · · · · 、	, f , ,	•	, f ,,
Í.,	f , , , <u>-</u>	• • • • • •	1		f , , , f
		, ,,, , , , , , , , , , , , , , , , ,		, f	$N = \mathbf{f}$
/、 <u> </u>	. . f. .	f / .	11	f = -	<i>f</i>
-	· · · · · · · ·	r	,	· • • •	<i>r</i>
· · ·	·	fi 🚬 🛍 .	x · x x ·		
x	'			! · .	<u>-</u>
	f , ff, , , ,	f ,	· •	1.	- · · · · · · · · · · · · · · · · · · ·



6 C c

 $\mathbf{f} = \mathbf{f} =$



 $\mathbf{f}_{\mathbf{r}}, \dots, \mathbf{r}_{\mathbf{r}}, \dots, \mathbf{f}_{\mathbf{r}}, \dots, \mathbf{r}_{\mathbf{r}}, \dots, \mathbf{r}_{\mathbf{r}},$



 $\mathbf{f}_{1}, \dots, \mathbf{f}_{n}, \dots, \mathbf{f}_{n}$



 $\mathbf{f}_{\mathbf{r}} = \left\{ \mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} \right\} = \left\{ \mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} \right\} = \left\{ \mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} \right\} = \left\{ \mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} \right\}$

Ac ed e e z

· · · · /	$(\mathbf{x}_{1}, \mathbf{y}_{2}, \mathbf{x}_{2}, \mathbf{y}_{2}, y$	· · · · · · · · · · · · · · · · · · ·
£	· f	f.,, <u>.</u> ,,,.,,
f.	<u>f.</u> <u>f</u>	<u> </u>
	· · · · · · · · · · · · · · · · · · ·	f,
4 x	$\mathbf{x}_{i} = \mathbf{r}_{i} \mathbf{f}_{i} \mathbf{x}_{i} \mathbf{r}_{i} \mathbf{r}_{i}$	j, f , , fi
4 x	t	

Refe e ce

fi fi second a second

____ / ___ /

_____ ff, ..., ff, ..., _Geophysical Prospecting 56 Geophysics 73 · _ · _ ff _ _ _ fi , ff , . , , , . , . , _ Geo-physics 77 _____f , ff, _____Geophysics 51 - $\mathbf{f}_{\mathbf{r}} = \mathbf{f}_{\mathbf{r}} + \mathbf{f}_{\mathbf{r}} +$ Geophysics 72 _ $\mathbf{f}_{\mathbf{x}} = \mathbf{f}_{\mathbf{x}} \mathbf{$ _ Geophysics 52 -Geophysics 41 _ Geophysical Prospecting 60 . 1 f Geophysical Prospecting 1 _ $\underline{}$, $\underline{}$, \underline{} , $\underline{}$, $\underline{}$, \underline{} , $\underline{}$, $\underline{}$, $\underline{}$, $\underline{}$, \underline{} , $\underline{}$, $\underline{}$, \underline{} , $\underline{}$, · -

fi fi fi Geophysical Prospecting 59

$f_{1}, f_{2}, f_{3}, f_{4}, f_{5}, f_{5}, f_{7}, f_{7},$

 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '
 '